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Castilla y Le6n

Curso 04-05

Examen de problemas 2° evaluacién

NOMBRE: APELLIDOS:
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) \ MODULE contador

E, 5, CLK pin;
Q1,Q0 pin istype 'reg':

equations
[01,00].clk = CLK;

STATE DIAGRAM [Q1,Q0];

state [0,0]:
if E==1 then [0,0] with s=1
else [0,1] with S=1

state [0,1]:
if E==1 then [0,1] with S=1
else [1,0] with s=1

state [1,0]:
if E==1 then [1,0] with s=1
else [1,1] with S=1

state [1,1]:

if E==1 then [1,1] with S=1
else [0,0] with S=0
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MODULE control

detectado, correcto, cerrar, abrir, Rs, Vs,

Q1,00 pin istype 'reg';

//definicidén de los estados

espera = [0,0];
abriendo = [0,1];
abierto = [1,0];
cerrando = [1,1];

//array de salidas

salidas = [cerrar,abrir,Rs,Vs,salida]l;
equations
[@1,00] .clk = CLK:

STATE_DIAGRAM [Ql,Q0];

state espera:

salidas = [0,0,1,0,0];

if correcto==1 then abriendo;
else espera;

PALIEVE e

salida,
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cle Hectacl =0
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/%1g£525 G-Sr?

CLK pin;

state abriendo:
salidas [0,1,1,0,0]1;
goto abilerto;

state abierto:

salidas = [(0,0,0,1,0];

1f detectado==1 then cerrando;
else abierto;

state cerrando:

salidas = [1,0,1,0,1];
goto espera;

END




CLK

correcto

detectado

GND

salida
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Ql.C
Q0.D

Q0.cC

| \ / |
S |
| 1 20 | Vcc
| |
| 2 19 |
| |
| 3 18 | 'Q0
| |
| 4 17 | 101
| \
| 5 16 | !'salida
| \
| 6 15 | Vs
| |
|7 14 | !Rs
I |
| 8 13 | labrir
| |
| 9 12 | !cerrar
| |
| 10 11 |
| |
| |
e \
SIGNATURE: N/A
cerrar = ( !Ql.0 & !Q0.Q )
abrir = ( Q01.Q & 'Q0.0 );
Rs = !'( 101.Q0 & Q0.Q );
Vs = ( !1Q01.Q0 & Q0.Q )
= '01.0 & !Q0.Q )
( Q1.0 & Q0.Q
# !01.Q0 & !Q0.Q ); " ISTYPE 'INVERT'
( CLK );
( Q1.0 & Q0.Q & correcto
# '01.Q0 & Q0.0 & detectado J; " ISTYPE 'INVERT'
( CLK );




